P

IR :Ioasﬁ

Registration No.

A1 -2024

SNTOP ﬁoécé /

_ 30 (NS)
Subject Code

6@%5 | ACCOUNTANCY
=2

(Kannada and English Versions)

[se%: 3 notd 15 dnTRw] [t g%m* :10365 : 32) [riﬁr'g wosnst : 80]
[Time : 3 Hours 15 Minutes]  [Total No. of questions : 32]  [Max. Marks : 80]

Aersdm: 1.

(Kannada Versioﬁ)
_c'g%’ DIFOXY @, 2, A L 2 GRNIT, EBRODH,
ETR/T—ed 00 1, I, il O IV Q@aﬂﬁgf@e 2SRRI,
NG00 86 cfgc':f éfgra’ﬁgf@ 80020,
CLPRENIN TF TIFO0X, LOFoger 15 da
@mm@ aa’zagafaai:m QERT,
Yo L0000 20080 ﬂo&’gﬁw

GUERF &705’/’7";5&2‘, é@famgd R

@RI - & DIT NI JPDToN )0 WITTHR)
XRZ SPYTRTIEE FTONTICOMZD. |

R -

L BRHDB wolyned FOCIRT LVIBIR, $O& VWO 1 (5x1=5)

1) TLUROT FOFoD, SURD HemdT WG FBXT Hos,

Ca) wy g

b) Q) D déimﬂa

c) D% =IB d BB =ID

P.T.O.



30 (NS)

2)

3)

4)

2- | R

A DB B TOWWITNT, COFIIR,  3:1 SNTRIBY

Bouindms. | CowE, TFHHARYL C oD, TLITOH]

Y o

Be0230YTR0N. AT BOD T/NT TIYY
a) 1:1 b)  3:1
c) 2:1 d 3:2

3T3ed FoTD QODNS, T8 Je0n T 30 TOF, WO {o{oN Vi1

TBSAOGRN, T 1008 FHDBSCD 1000 Fecoriveh, TvRELD
To3ERORT. BOLVARCLY TodBROON, BTNy TN
3 & 3¢NT JPIVOT KT INBUBIB.

a) 70,000 b) 30,000
¢) %1,00,000 d) 40,000
320 BRBMOINI, 30MY wen TEREITNIT,
a) 380N% b) 630NW
6) 9301 d) 12301

30@5335 Ssagodaaai 83 5e203RA0NNL DeLLITITN.

a) BOTL DFeRD b) BRIV F&);’s’qe*w‘z%

c) ©OwREE DFRE d). B, OFeRT



HI.

WLERRT I 30 (NS)

¢ |I
.

$RCDY  ERUTE  WICRYY  ROGIRT  euITII,  BOR,
RO Wty IR, PO JRRD. | (5 x 1=5)

[L.$TOF) 53@&_39 BRTTOF), TOMTTY, %dmﬂmgd, TEIT/RODT,
TOTITOTT), WOBWOF ¢EREN] |
6) Nd 20BHY DOTTY, TOLNTTT L 0BTV

7) HOCETRTT  Q0IONIZ, FORPTION - TWLOTTT
NOCSZSFCS@ a’odaaﬁdmmécﬁ

8) TOOTZ TOUIT FOTJAOH

9) zﬁedme;'aad S0y TEBROTN DT SRIATV
S003N WMRF ONBERMITY)TR.

10) Snch  TOOT  SeBo, [P W I BERIIAY

— 7Y, :&roe@ma’cﬁ |
TRODA WTOWD. | (5x1=5)
11) A | B

a) F/NT NP3 ) TRBFOD 23e0TEIFNAH

b) FPOTIAWD - i) TONWTT WIS |

c) BEOTORD BNV NJeRF i) IezT@ID |

d) @az;m-mc;%?d NI v) TROT A8 3
e) 43 GANY TR V) Deorod IERYed RO
Vi) LOBWOY BROTVETE



30 (NS) | - S 111 1Y
V. 3$NT IIROR 2o TE YPT Wow WITY WA, (5x1=3)

12) TRLOMOT FOFODD), DFBFAT oW ICTHFIF, E¥A.

13) B3  COPTI),  DOOTHTOOINSI  TwLOrWST %I

IRFERRTIHIS. (RO / ITY, $93)

14) TRCOMOT FOFODL DRZET WY TONTROBOL  DRBEINY

SRNT 2O FIoF S9A.
15) Y (23T) SBAR 20T NTOBTH WBSOWO.

16) EPS ), D30% 230W0.

: N -
V. $NERNYY oR@mGde el JINeR wsox. I T3S
DT> L0INRLD. | - (3 x 2 = 6)

17) TROIMOT WIHOTHZ LIRRORDT FTE LOBNTIL, §9A0.

18) LMOT  ROZOH  DIRFICDY,  TOWMRTD SN,

3ﬁcﬁcﬁfaoﬁaz§3§ BP0 m@doﬁaaﬁa& 2000200,

19) 330D DT o DOTTER?



OOIE TR T B - 30 (NS)
20) BroToR> FBNG WEF IR, 2TOWD.

21) IMTH  BOAT JBRY  CBPRJTRT0RL  ATW  WOTRRENNT,

SYA0.

WnN-2

VI, OSRRYTRTER w0 @%ﬁ@ﬁ QZOR. TS TJ & LOINW.

s ey
(3 x 6 = 18)
22) QVCTVD  TIWOW  KOFONY  TOROTND), WD 33,
3038 33 B0 ;

7 4,000 HJ20F 30.06.2022
T 12,000 OT0OT 01.11.2022
Z 8,000 HJ00T 31.12.2022
T 4,000 HT00T 01.02.2023

31-3-2023 §, 3RSRAWS, SHFE Jesme 12 Co3 wemed FO3
SEE e rovyy, TEIH FFT WRPOH), FORRBONC.

23) ©Om, TOW DR WOW TSN,  TOF-FTID,

12 23 1 3 35me0g Boutewdnhd. wom Z05m00
210 - 5 — o2 . Qe 0 Q
NFBNRITY. TOX W) WOW WD BRI TOFODY

VPRI, 5:30 YWTIVY BOWERYLY IFFOATHTY0.

Tom T3 FHOETRT NYE OHTOII, F0TLACND.



30 (NS)

5 T

24) 26, Ne THF)  IITD TOLOMTTANTY, SRIASS TN

25)

BOWEANH Txwed 5:3:2. DIVOT  14.2023  TOWD DT
9BVTON €80,000, T60,000 B T40,000 WOBWIIEI,
BRODTTT. DJ0OT 112024 o Nead AFT BROOT.
TR0 LTOTIY 8 FWNFOS ©OBNYS.

a) WOWweYrW eI WAFT W 12% 303,
b) Nezos Rowe (V[e3I) T4,000T8 3oner.
c) Ne@oy 8e3FRPOT N [AS - 26 5T

d) 00T IRFT OB SHI0H e, WB[W DT BRODT
DTOTHBNG BOUS ToE THOTR, TBOLWBD.

i) ﬁo:’&oda 2083 é‘:ea?aﬁ‘@@é T 84,000.
iy 2022-2380Q =OF oda e T 60,000.

Neo¥ o0RTOTT 0930DRY, B3RO

3 3ONT ORTHERLOT, TOTI m&o 2013 T wazéeci |[Rofi-siple
OJ00% 31.03.2023 TOW araémaorz DT @az;-mé CEEVOWOY
3C300A.

FVOIREBOBRLOT WOT &0 8,00,000
mmgm 3008 | 2,00,000

. J°3CT BB 50,000



CAVRTR 00 B . - 30 (NS)

- Qo .
02 INHeTTe 10,000
LRRN DB SONNWD 20,000
ohogne 0FBed | 20,000
- 3oR ' 30%

26) QT TOT  AOPWI Q00T 31.3.2023 §  BRSRRCBOI
7 6,00,000 &‘J%@é <03 ri%daagd. 88 [RFTY ©TOAT ﬁé)oaaﬁtﬁ
DT THAFT RTIPORD  1,00,000 SATD. IBLOD
OHOBRLTWITEONG  [PTILNOT  YVOLRT 3 T40,000 [T,
oP-3FB BB IerodIOCING.  IWEIHODHY - oW
40,000 BRDOIPNTY, BIT WO, BRTBMOOINY 55’965@

£ 20,000 s@daodmr\dagcﬁ.

TERE  APITOZ TOO3F BB 23eNTEIBRYOTONIT
SN BOTD), SFeT JPRO.

W - 8
Vil clmyente St IBteR wgoro. 38 TR 12 woine.
- (3 x 12 = 36)
27) 9% WY WAL TR ROFORNY  TLOTOTTINTY,
AW P-TFI, 2:1 T SHWMWITY  BoWERWITRT.
BJ00% 31.3.2023 JOW WO &Eows BéF 88 F9NT08T.
OJDCT 31.3.2023 CODS 0w DéF
BRTBIOOENL z SN z

3RBBT, DITOD TIEL 6,000 IR 8,000
TOTNTOWR | 16,000 TOMOTT 30,000



30 (NS) - F | IR LR
BRBMOOEND z SANLD T

QRN Y 18,000 SRIDIN 48,000
WOBTOY : QCTBRETFTOLANGD 8,000
AT 80,000 Lk 56,000
NTACD) 60,000 RPCEPTL T 30,000

OTOT 1.4.2023 SO, B FIINI TTXTONPOT DVBOW o

WOF copd, ROAR T3 Wrdodomey.

1
4

a) ©FLH 40,000 200BTE B T 30,000 éeérd@%ﬁaﬁﬁ SR
308eR. [AS-26 TFoO]

b) 3edFSPOT ©gF [1/2] BRIWIY, TLOHN  TRLOTT
Jelalgocie levicpled

c) IWAET WITRPY, B[R ¥ 66,000 B FIEIW SPnenon
anb%ﬁmaé 7 700. |

d) HBeceRd® TOI Hed Fe.10 TRD ITFP  3NCR0 LI
omAR, 3610 O BADBAKRO.

30300A

) HRCBPE, o3

i) TOLNTRTT WOWPY I
i) ﬁoﬁ@o& TR PN TP



(EHTREL - > 30 (NS)

28) &dwm WD YFWTO D0V TOLMT, @Dﬁ—ﬁ%ﬁ&c{ ReooN
BOWBRWITWH. OFW0F  31.03.2023 TOX® wWHT ©FE BT
8 IYNTOSTOIT.

OT00F 31.03.2023 BOTD &0 [E

BRBMOINGD z SBAND ¥
3om33 DD JIAKL 20,000  WOIIIIHE I 20,000
RTTOTD | 40,000 FaplaTanielon 50,000
SOCAD AR : 20,000 cmmab : 30,000
LROT O 20,000  QeBRETFTLNRW 120,000
20BZY : 003 RLTIBTEANED 30,000
2Ip] 70,000  TWE 90,000
SRR 70,000 .

B Ded3  OmosHomd  wRD  FCFODFY,  HRRFIN
SCTIOF DATIT.
BIWIO TRk :

a) GANYR, 88 FENT0Z DSee00 TIOTLOOWD.
TOMOTY ~ 52,000, TRAI T 39,000, CHOZRLT|ITLNTD —
24,000, 383® — ¥ 80,000.
b) zﬁmwﬁdmﬁ@m dUv 12,000 nﬁ'a@% éﬁm%roo@daaad
c) Noﬁaod: ﬁfammﬁﬁﬁfém DRSF "?da ?mcémﬂd
d) ébcﬁema Sgrisd 73,000,
30300 :
)  wSeed L3
i) SREOTRTC WOB™OY &3
i) 239,07 8.



30 (NS)

A0 R u

29) TomTeeZD  WeRon'  FOWR  JORNF @I T100 T

B00WBE0D, 80,000 TTPT, JeTNTRY, T JeO QeWONC
T 10003 WENE SRTH. T TS0 3 IYNT0LT.

220 9BFON Beo, |

T 40 TOBOD TEo (EWONC Xed)

250 TR TOMR ©OST FEODH FTeo.

QO e TOSROIPATY, 10,000 JeToner FoLOHITOE,
TP ToMR YOS FOOH TOT BROToN NITR D

'aeﬁ@ﬁ@aﬁd. & 10,000 JeRTT, B3I BERRREED

30)

HoIBROW, YN, T@ JedR 80 T0Z TerF TR
R WBRNE BPRTHTT.

Jeoone BN, ﬁ»é.%ﬁmm TOMR VD RBNATER
ROWORATOZ &NIT Trocd ToDSNYR, 22T0WD.

D[RS BOT JONWE [T WDATTY YN BoTFFRYY
TOTING AeRTN TOWOHATOZ Tewd ToDINYR, T

a) 30 T100T [ODBBS0L  Jesmo 103 T1,00,000 T
MOTIAGI, Jesm 100 ReeBodY el [,
BRBSONY  DFWRIJIRRPROTT.

b) 3o 1003 BWNDLS0H 3e3 100 % 2,00,000 33
WOTINGD), 3e3wo 100 eWoPOIY AR SRA,
38T 10T QLNONOTY D RWHRRF LT

c) 3o 1003 INNBS0H  Beswo 10T % 3,00,000 33
WOTINGLH, Jedwo 108 2eawePOTY  eRE  SNE,
FNDBSONY DRRCBIRRLDJHTR.

d) 3o 1003 [NDBB0L - Fesdwo 10T 4,00,000T
WOTIAGT), SVDXS0DY  de@E  TeB, IPDBSOHY
DRREBEINRL RN,



QT o 30 (NS)
31) oBIO  BoTD  AOLMWITIT B AT SRWSNLOT,

DOTIT BFF TIFOLI, 30RO

DWOR 31.03.2022 31.03.2023
| 7 2

@3:863 -mowmfé 8,00,000 9,00,000
S0eRED 80,000 190,000
QeZTFOFWDODN Toonh _20,000 30,000
=plJ) mﬁm@ﬁrﬁ@o 30,000 | 20,000
X5 | 9,30,000 10.40,000

BT - 4,00,000  5,00,000
O 03ReTITEONED 1,00,000 2,00,000
TR | 3,00,000 3,00,000
SRER0 WTIFZ)N 90,000 20,000.
SN WP IR ISPTIRD 40,000 20,000

TN | 9,30,000 10,40,000

ed




30 (NS) = | IR T EEER
32) B FUNS SHLIMLOT H WRTVINIR), TOTLACWO.

a) R UTIFR YRS

'b) RO WTSTRINY PRIFT0 T
c) WIRO 3RBIZHNY STIF LI I
d) m%@ R LTI

e) TO3PF3IT 9N

) ¢ S0 90T,

DEoRe o
FOO3TOF BTHONOT WOT eﬁmbj:u 15,00,000
20 o3 5,00,000
JT0RO TRTOD 2,00,000

ARBY WTO FOO3TOF L3VFBCAR0T

LT LSTOD 8,00,000
R0PR0 IO WTIFHNL 2,00,000
Y Q5D OB 7,50,000
ROoRO IR0 imﬁé%@ﬁ@a 1,50,000
FoOSTOF 3TR 3% 50,000

DFY 083 3,00,000




"I | | 30 (NS)

(English Version)

instructions : 1. The question paper contains four parts A, B, C and D.

Part — A consists of four sections I, 11, Ill, and V.

2. Provide working notes wherever necessary.

3. 15 minutes extra has been allotted for candfdateé to read
the questions.

4.  Figures in the right hand margin indicate full marks.

5. For Part — A questions, only the first written answers will be
considered for evaluation.

PART - A

. Choose the correct answer from the choices given : (5x1=5)

1)

2)

In order to form partnership firm there should be atleast
a) One person

b) Two persons

c) Seven persons

d) Ten persons

A and B are partners sharing profits in the ratio of 3 : 1. C is admitted for

% share. The sacrificing ratio of A and B will be

a) 1:1

b) 3:1
51/2:1

dy 3:2
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3) Swadeshi Comp. Ltd. forfeited 1000 equity shares of ¥ 100 each for
non payment of final call money of ¥ 30 per share. On forfeiture of
shares, forfeited shares account will be credited by

) T70,000
b) % 30,000
c) ¥1,00,000
d) ¥ 40,000
4) Current liabilities are paid within - months.

a) 3 months
b) 6 months
c) 9 months
A4d) 12 months

5) Comparative statements are also known as
a) Dynamic analysis
'»5{ Horizontal analysis
c) Vertical analysis

d) External analysis

Fill in the blanks by choosing the appropriate answers from those given in the
brackets : (5x1=35)

[inflows and outflows, debtes; remains fixed, death, creditors, capital reserve]

6) Under fixed capital method, the amount of capital of partners

7) Executor's account is generally prepared at the time of of a
partner. ~

8) Debenture holders are the of the company.
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V.

9) Profit on foﬁeiture of shares is transferred to account.
10) Cash flow statements shows of cash and cash
equivalents.
Match the following : (5x1=5)
11) A B
a) Sacrifice Ratfo i) Investing activities
b) Debenturés ii)  Admission of partner

c) Analysis of financial jii) Percentage
statements '

'd) Profitability Ratio 'iv)  Acknowledgement of debt
e) Sale of fixed assets v) Helps in decision making

vi) Capital adjustment

Answer the following questions in one word or one sentence each
(5x1=5)

12) State any one circumstances under which a partnership firm is dissolved.

13) Accum&é profit is transferred to coniinuing partner's capital accounts.
(State True/False)

14) Mention any one difference between dissolution of partnershlp firm and
dissolution of partnership.

15) Write any one example for current assets.

16) Expand EPS.
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PART -B
V. Answer any three of the following. Each question carries 2 marks : (3 x 2 = 6)

17) State any two contents of partnership deed.

18) Write the journal entry for the assets taken over by the partner at the time

of dissolution of a firm.
19) What is calls in arrears?
20) Write the meaning of financial Sta'tements.

21) Mention any two uses of cash flow statements.

PART - C

VI. Answer any three questions. Each question carries 6 marks : (3x6=18)

/Zé:.}',‘Meena is a partner in a firm. Her drawings were ;
¥ 4,000 on 30.06.2022
T 12,060 on 01.11.2022 .
8,000 on 31.12.2022

¥4,000 on 01.02.2023

Calculate interest on Meena'’s drawings at 12% per annum under product
method for the year ending 31.3.2023.
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f\@,}/Anju, Sanju & Manju are partners sharing profits in the proportion of

25)

13 -and % Anju retires from the firm. Sanju and Manju decided to

210 _
share the profits of the new firm in the ratio of 5 : 3.

Calculate Gaining ratio of Sanju & Maniju.

2/4.)" Seeta, Geeta and Kavita are partners sharing profits and losses in the

ratio of 5 : 3 : 2. Their capital balances on 1.4.2023 stood at ¥ 80,000,
¥ 60,000 and ¥ 40,000 respectively. Geeta died on 1.1.2024. Partnership
deed provides the following :

a) Interest on capital at 12% per annum
b) Salary to Geeta ¥ 4,000 per month
c) Geeta’s share of goodwill [As per AS-26]

d) Her share of profit upto the date of death on the basis of previous
year's profit.

i)  Total goodwill of the firm is T 84,000.
ii)  Profit of the firm for the year 2022-23 is ¥ 60,000.

Prepare Geeta's executor account.

From the following information, prepare statement of Profit and Loss for
the year ended 31.03.2023 as per Schedule-lll of Companies
Act 2013.

Particulars z

Revenue from operations 8,00,000

Purchase of goods 2,00,000
Salaries to employees 50,000
Leave encashments 10,000
Rent and taxes 20,000
Repairs to machinery 20,000

Tax 30%
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26)

AR

Meena Co. Lid. earned a net profit of ¥ 6,00,000 for the year ended
31.3.2023. Depreciation charged on the fixed assets during the year was
T 1,00,000. There was a loss of Z 40,000 on the sale of old machinery,
which was ftransferred to statement of profit and loss. During the year
inventories were decreased by ¥ 40,000 and other current liabilities were

decreased by % 20,000.
Compute the cash flow from operating activities by indirect method.

PART -D

Vil. Answer any three questions. Each question carries 12 marks :

27)

(3 x 12 = 36)

Anita and Sunita are partners in a firm sharing profits in the ratio of 2 :1.
Their balance sheet as on 31.3.2023 was as follows :

Balance Sheet as on 31.03.2023

Liabilities
Bills payable
Creditors
Reserve fund
Capitals :

Anita

| Sunita

T
6,000
16,000
18,000

80,000
60,000

1,80,000

Assets z
Cash 8,000
Debtors 30,000
Stock 48,000
Furniture 8,000
Building | 56,000
Motor Car 30,000

- 1,80,000

On 1.4.2023 they admitted Vinuta for % share in the future profit under the

following terms.

a) She should bring cash for capital T 40,000 and % 30,000 for goodwill

[As per AS-26].

b) Half (1/2) of the goodwill amount withdrawn by the old partners.



WRLERETR R e 30 (NS)

c¢) Building are to be revalued at ¥ 66,000 and make a provision for legal
charges ¥ 700.

d) Depreciate Motor Car by 10% and reduce the Stock by 10%.
Prepare :
i) Revaluation Account
fi) Partners Capital Account

lii) Balance Sheet of the new firm.

28) Shilpa and Amruta are partners sharing profits and losses equally.
' Their balance sheet as on 31.3.2023 was as follows :

Balance Sheet as on 31.03.2023

Liabilities % Assets z

Bills payable 20,000  Cash at Bank 20,000

Creditors 40,000 Debtors 50,000
Reserve Fund 20,000 Stock 30,000 |

Bank Loan : 20,000 Furniture 20,000

Capital : Machinery _ 30,000

Shilpa 70,000 Building 90,000

Amruta 70,000
2,40,000 2,40,000

On the above date they decided to dissolve the firm.

Additional information :

a) The assets were realised as follows :

Debtors — ¥ 52,000, Stock — T 39,000, Machinery — T 24,000,
Building — ¥ 80,000.

b) Furniture was taken over by Shilpa at T 12,000.
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c) Liabilities were paid in full by the firm.

d) Realisation expenses were % 3,000.

Prepare :
i)  Realisation Account

ii) Partners Capital Account
lii) Bank Account

\;ﬁéajarajeshwari Trading Co. Ltd. issued 80,000 equity shares of
¥ 100 each at a premium of ¥ 10 per share. The amount was payable as

follows : https://www.karnatakaboard.com
On application ¥ 20

On allotment z 40 (including premium)

On first and final call T 50.

All the shareS were subscribed and the money was duly received except
the first and final call on 10,000 shares. The directors forfeited these
shares and reissued them as fully paid at ¥ 80 per share.

Pass the journal entries regarding issue, forfeiture and reissue.

30) Give the journal entries for issue of debentures for the following cases in
the books of Manasa Co. Ltd.

a) Issue of ¥ 1,00,000, 10% Debentures of ¥ 100 each at a discount of
10% and redeemable at par.

b) Issue of ¥ 2,00,000, 10% Debentures of ¥ 100 each at a premium of
10% and redeemable at a premium of 10%.



L

c) Issue of ¥ 3,00,000, 10% Debentures of ¥ 100 each at a premium of

10% but redeemable at par.

d) Issue of T 4,00,000, 10% Debentures of T 100 each at par and

redeemable at par.

;»T’j From the following information, prepare Comparative Balance Sheet of

Amrutheshwari Co. Ltd.

Particulars

Share capital
Reserve
Long term loans
Current liabilities
Total
Building -
Machinery
Inventory
| Trade Receivables
Cash and Cash equivalents

Total

31032022  31.03.2023
T E 4
8,00,000 9,00,000
80,000 90,000
20,000 30,000
30,000 20,000
9,30,000 10,40,000
© 4,00,000 5,00,000
1,00,000 2,00,000
3,00,000 3,00,000
96,000 20,000
40,000 20,000
9,30,000 10,40,000
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@?j From the following particulars calculate :
a) Inventory Turnover Ratio
b) Trade Receivable Turnover Ratio
c) Trade Payable Turnover Ratio .
d) . Gross Profit Ratio
e) Operating Ratio
f)  Net Profit Ratio

Particulars N
Revenue from operationé : 15,00,000
Gross Profit | 5,00,000
Average Inventory 2,00,000
Net credit revenue from operations | 8,00,000
Average Trade Receivables | 2,00,000
Net credit purchase 7,50,000
Average Trade .Payables 1,50,000
Operating Expenses 50,000

Net profit | 3,00,000



